
10183 10183.5 10184 10184.5 10185
cyclenum

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8020

8020.5

8021

8021.5

8022

8022.5

8023

8023.5

8024

ru
n

run:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

73.5−

73−

72.5−

72−

71.5−

us
l_

1X
usl_1X:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

14−

13.5−

13−

12.5−

12−us
l_

4a
Y

usl_4aY:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

us
l_

4e
X

usl_4eX:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

31.5

32

32.5

33

33.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

39.5−

39−

38.5−

38−

37.5−u
sl

_1
2X

usl_12X:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8020

8020.5

8021

8021.5

8022

8022.5

8023

8023.5

8024

ru
n

run:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

128−

127.5−

127−

126.5−

126−us
r_

1X

usr_1X:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8−

7.5−

7−

6.5−

6−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

173

173.5

174

174.5

175

us
r_

4e
X

usr_4eX:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

21.5

22

22.5

23

23.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

41−

40.5−

40−

39.5−

39−

us
r_

12
X

usr_12X:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8020

8020.5

8021

8021.5

8022

8022.5

8023

8023.5

8024

ru
n

run:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

15759

15759.5

15760

15760.5

15761

us
l_

co
il1

usl_coil1:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

2389.5

2390

2390.5

2391

2391.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

5293.5

5294

5294.5

5295

5295.5

us
l_

co
il4

usl_coil4:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

3503.5−

3503−

3502.5−

3502−

3501.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

5301

5301.2

5301.4

5301.6

5301.8

5302

5302.2

5302.4

5302.6

5302.8

5303

5303.2

us
l_

co
il7

usl_coil7:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8020

8020.5

8021

8021.5

8022

8022.5

8023

8023.5

8024

ru
n

run:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

14793.8−

14793.6−

14793.4−

14793.2−

14793−

14792.8−

14792.6−

14792.4−

14792.2−

14792−

14791.8−

14791.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

1858−

1857.5−

1857−

1856.5−

1856−

us
r_

co
il3

usr_coil3:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

5586

5586.2

5586.4

5586.6

5586.8

5587

5587.2

5587.4

5587.6

5587.8

5588

5588.2

us
r_

co
il4

usr_coil4:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

3241−

3240.5−

3240−

3239.5−

3239−us
r_

co
il6

usr_coil6:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

34573.2

34573.4

34573.6

34573.8

34574

34574.2

34574.4

34574.6

34574.8

34575

34575.2

34575.4

us
r_

co
il7

usr_coil7:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8020

8020.5

8021

8021.5

8022

8022.5

8023

8023.5

8024

ru
n

run:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

116−

115.5−

115−

114.5−

114−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

12.5

13

13.5

14

14.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

213.5

214

214.5

215

215.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

225.8−

225.6−

225.4−

225.2−

225−

224.8−

224.6−

224.4−

224.2−

224−

223.8−

223.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

23−

22.5−

22−

21.5−

21−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

239.6

239.8

240

240.2

240.4

240.6

240.8

241

241.2

241.4

241.6

241.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

293.6

293.8

294

294.2

294.4

294.6

294.8

295

295.2

295.4

295.6

295.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

112.5−

112−

111.5−

111−

110.5−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

40.5−

40−

39.5−

39−

38.5−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

273

273.5

274

274.5

275

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

142−

141.5−

141−

140.5−

140−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

33.5−

33−

32.5−

32−

31.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8022}



10183 10183.5 10184 10184.5 10185
cyclenum

241−

240.5−

240−

239.5−

239−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

90−

89.5−

89−

88.5−

88−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8.5

9

9.5

10

10.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

509.5−

509−

508.5−

508−

507.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8022}

10183 10183.5 10184 10184.5 10185
cyclenum

8020

8020.5

8021

8021.5

8022

8022.5

8023

8023.5

8024

ru
n

run:cyclenum {run == 8022}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


